(21811 ple (e/1€) poy jlall)
ol alaisll gyl a305)1 ydliictl &inl go jalnll
(i)aspin/alsall go padoll galyicyl gliy
DIErFE/0/TO0 5u3lig (1A11) pSp

BIEFT Lid> DIEF. go ploclll g5l byl e

asug salll Jguwy Sle pllullg 6Ublig 1al) 200l

Wliclll @inl 1620 abolbuoy dojpdoll ado asbios adloll é)ljg cyas ysoy Cinaeil »1Er1/E/TT cleyyll oY o ail
sg0 a4l 1632y Jolll @l auynll agsjll

I /1gi53ll
el B e, /1gi53ll
135 e, /1gi53ll

135¢ e, /1gi53ll

135¢ e, /5wl
T /5wl

8Bl aslbo gjo olpi Sl Gull sgsil byl e ( i ) dwwdo /walboll o daoasall Cilslcll &0 1Bl ellsg
o) 83820l awnsliallg clodwll dawls 0 dalowll Jio duo 2 IEFT b 21EF. o plg.ciU aopboll abos Joallg

aylig (e/r1.v.) p6) daslnoll wlb> wogoy + e PR L e 00 J5 »1Er1/1/19 clayyll
po) albgll daggll aslby wongoy dawiall 39w 1 v /éuwdoll wolb (wlball Jiog I EFT/I/1E

BIEET/T/IT 0 clgiill 5y)lig 1a50 30 6)3LD i(rrueerune )
Glaiiwo go anyadi pi bo aeolpog «olicll sgis Sle aalball 5g3)g walboll (o pasall golpcll dwljay Cuold 269

Wlayeillg ailglllg dabilll cgn 0 auudliollg cloiwll dwls 2219 Wil laiiuwe go 036 log sausall walo lgiari
:JWI gadl Gle ellag wayylul

sand Al & Wl

:anlbwll i agog-1

clgiil 22 anya8il sasuidl aplll go Jouso pe a1 EFE/0/T0 2ylig (IA11) ) 2l aslowll JI ojlgll yolyicll
.ol 620l

ralioll Jhi dgoag-r

¥/




p8) alooll wlbs pliwl ail 21€r€/0/T0 2yl (1A17) ps) 28y alowll G sjlgll anlicl Lo wlball ol
idoll) aypdl jioay il 1as Jowwog o 1 EFE/P/TE Aliy dojboll @bo yp wibo go oI EFE/1/TV aylig (1/A/10T)
(8j2Jly gyl
-aiall §ij-r
:L",JIJI anil ansll wlo aioni log dlpcll 65530 (6 Uo)g Lo guosbll jbi igog dainlll cuw)s ol 2=

Qo) waldall pliicl asloell Jgus pac 6 adsull aplll gody lous daslnelly wlbell g sl jooi A
aolbill 60l algi a2y aoyasi) oI EFT b oIEF. go plocll ge aldsdl aplll go »1€7€/0/T0 ylig (1A11)
4o go (1/M/F0r) péy dalnall wlbs aliwl al wldoll sy Euo bl wlbs plliwl 29U go ey (i 639320l
clgiil a2y pa6 oljcll UT dalpoll sy Lodw gl updl wibo jioay il 15e Jouwog @ LEFE/P/TE Ayl aupdl
bl ulbs plibwl 35U go logy iy 6320001 dwolbrill 620

JUb wlicll puasdi gga clb Sl wijpollg wluwlll ge wlball ainlll culw adisliallg gloiwll awls 0 -u
dalnoll glioo @leg ol ailliy 620l clgiil 16 dalnoll I Glbs pas aily wbls by oy 83300J1 dwolbill 6.0l
leg 2l pop aliui pig Jalollg sylgll o oy JAui aoliwl ol wlbo Sl oo sy wlicl ulbs i ol
155 Lo aany 831611 caldall

Sle bl @i ail il aopsall dboy J3allg 611 aalpo guo ailpl plb 3l sesPl budl J) aioll ggap -2
BDIEFE/1/TV 2)lig (1/A/F0T) psydl 5 byl wlbs Liogay o1 EFT Lid o1& o plgelll aldoll blwo

Sle ooy al ool a1 Ere/11/1+ 2y)lig (£/10/TEMT) poyl S5 duwasoll doplell up wlbs JJl aolll ¢gop -
04igo oo 8)alodl aaupll 8slall e jludiwll oliu m1ere/1./11 au)lig (1€re/re/0r-) p8) pulbs JI 6jLblL"
053u6j (....) p6) P G Lo ... /albal) alwpoll (........... ) p8) 595 WL o 1Ere/1/TV aylig (1/A/1OT) pdp
BIEFE/T/F. @dlgall "ol - 1F/1/1T ayliy jg530l ciolw lgyl jliwall 85kl gl

Sl algdl apliicl Ulbs (ogay BIEFT b »1EF- go placill sgsi)l bugl Lle pliclly w@iall plb -o
byl Glbay sl 3l go by guiw go 151 jg0 221 sl o 1E1€/0/T0 aylig (1A17) ab) 28l dalnoll

‘Gle oy al aoil @1€17/0/TV 5y)ig (197A/F) p8) adlall pjg SJleo wilbd o (RHEM] Sl andll ¢gop -9
o e glicll oo @all galball ol 2y bo ayrll of agdil badly gl Gllbs goni dalnoll pgsi ol"
g 2duill 20)U g0 (@953l bayl) auuill logy giiw Sl lghasi Jio) logs guilly 633001 asolbill 5a0ll JUs bayl
"ay0il)] alg dyilgi caounl Ulg

BIET b aler. go ploclll $gdj)l byl wlhall celi aalnall ol anil bl olbs I @l ggop -j
o logy guiw JUs byl Jle dlyicl 0 walsoll aeol @ Bdgo I EFE/1/TV anlig (1/a/10T) psb) lplbs wogay
Pl 29U o Wogy guiw JW byl e plicll p4) @g" 1 JWI gl wlball goni cus budl wlbs pliwl 2yl
e lulbs
aaloall LI 2)lgll wlball pliicl Jas pac oo dalnall apl gusbll gl glasl aiall Ol @uw b e 2lig
.apcgigall aplill go aiiislio pac Jlg adsill aplll oo o1€r€/0/T0 sy)lig (1A11) p8) a8l

Y/Y




Jhsl
:,_ﬁ,.'illl 62324 ,_,Jgill awilaiyyl augpsdl aygsjl ainlll Oyps padi bo J4J
:aul4uill aoll :Jgl

apWl go 21€r€/0/T0 4)lig (1A11) po) 28lb @lnoll G 3)lgll caldall pliicl Jgus pac 0 dalowll sl
.aucggoll aplll go aislio pac SJWbg sl

:ducgrgoll aoll Ll

ucggoll aplll go »1ErE/0/T0 aylig (1A1T) pd) usll dadowll (J 5)lgdl walbedl ljicl daivlio pac
adasll aplll go dgis pasl

bl Gle gdlyicdl 6 dalnallg walsoll dudol 36

(10rv) o8 siligl Jhallg \lgithasig a1rV- plel (M) o) Siligh Jhall o (IT) ésloll @y Bai o Gle 2l
S bwo wolidiwll pyasiy Siaudl jhall Gle glicl o wlballg aalnoll go J5 adsl oo a1 EF0/E/TE aylig
sl aslifiwl Jous Ji6 alboll pgdy ol Lle ghall plliwl 25U go gy giw JUs auyll ajgsjll awslifiwll dialll
lae e wlpcll gropbll U4 @Gy ailo saslaiudl golgicdl aind jlpal b Uﬁ.u uloo oy28i gi sadde aéaiwnll 65l
.aoliwl 35U go logy guibw JUs jhall

G101l alllg

Y/Y




